LISTEN, READ AND CHOOSE THE CORRECT ANSWER.

LEER Y SELECCIONAR LAS RESPUESTAS CORRECTAS. PUEDE HABER
VARIAS CORRECTAS.

WHAT IS SHE
WEARING?

SHE'S WEARING
A RED SKIRT

SHE'S WEARING
RED TROUSERS

SHE'S WEARING
BROWN SOCKS

SHE'S WEARING A
PURPLE T-SHIRT

SHE'S WEARING
A GREEN SCARF

SHE'S WEARING

F A PURPLE JACKET




WHAT IS SHE
WEARING?

n  SHE'S WEARING A
"\ RED AND WHITE HAT

B SHE'S WEARING
A GREEN JACKET

 SHE'S WEARING
A PINK SCARF

SHE'S WEARING

D BLUE TROUSERS

E SHE'S WEARING
A RED JACKET

- SHE'S WEARING

BROWN BOOTS
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WHAT IS HE
WEARING?

HE'S WEARING @
GREEN SHORTS

HE'S WEARING @
A BLUE T - SHIRT

HE'S WEARING
YELLOW SHORTS @

HE'S WEARING A
YELLOW SHIRT

HE'S WEARING @

BLUE SHOES

HE'S WEARING
F A RED T-SHIRT @




